luz 2

OTyeT XpomMaTorpammol

MacnopT xpomaTorpammbil

MpoekT: Kpucrtann 2023 KonoHka:
HasBaHue meToaa: noanunHHocTtb MCIMC 2024-05-29 Mpo6a: 1066-24
OaTa n Bpems: 20.06.2024 13:31:56 MeTtop pacueTa: AbGcontoTHasi rpagyvpoBka
AHanus.Xpomartorpamma: 1383.1 0O6beM, MKI: 0.459
Oneparop: Pa3sBepeHue: 1
UcTouHuUK:
KommeHTapum: Beon 0,5 wmMxa npoGer
PacyeT no KOMNOHeHTamM
Bpems, MuH | KomnoHeHT Mpynna Mnowagb | BeicoTa KoHueHTpaumsa | Ea. koHueHTpauumn | OeTtekTop
4.293 | aueTtanbaerua 10.828 6.278 18.433 | mr/gm”3 nno-1
4.693 | meTunauetat cn. acmpbl 0.339 0.298 0.803 | mr/gm”3 nno-1
5.008 | aTunauetat cn. agmpbl 34.139 25.662 63.719 | mr/gm”3 nmo-1
5.068 | meTaHon, % 06. 21.453 12.468 0.006 | % 06. nma-1
5.199 | 2-nponaHon cuB. Macno 0.692 0.421 1.297 | mr/gm”"3 nna-1
5.255 | QTAHON 61159.259 | 31302.549 nma-1
6.161 | 1-nponaHon CVB. Macno 9.058 5.108 12.996 | mr/gm”3 nmo-1
6.665 | n3obyrtaHon cuB. Macno 14.528 7.070 14.940 | mr/gm”3 nna-1
7.939 | nsoamunon CMB. Macro 160.304 89.737 173.037 | mr/igm”3 nno-1
9.443 | aTunnakrat cn. acmpebl 0.824 0.462 1.372 | mr/igm"3 nno-1
9.502 | rekcaHon CcuB. Macno 39.331 22.250 75.192 | mr/gm"3 nna-1
10.593 | ykcycHas k-Ta NeTyY.K-Tbl 39.291 18.686 144.160 | mr/gpm”™3 nmo-1
11.059 | dpypdypon 0.932 0.436 1.849 | mr/igm"3 nno-1
11.540 | nponvMoHoOBas k-Ta | NETYY.K-Thl 6.196 2.916 23.726 | mr/gm”3 nmo-1
11.926 | 6eH3anbaerng 1.140 0.593 1.133 | mr/gm”3 nno-1
19.181 | cheHunankoronb apom. cnupTt 14.614 2.981 21.785 | mr/igm"3 nno-1
PacyeT no rpynnam
Fpynna Mnowanb BbicoTa KoHueHTpaums EfQ. KOHUeHTpauuun Kon-Bo KOMMNOHEHTOB
34.353 19.776 21.421 | mr/gm"3 4
apom. cnupTt 14.614 2.981 21.785 | mr/igm"3 1
NeTy4.K-Thl 45.487 21.603 167.886 | mr/om”3 2
CUB. Macno 223.914 124.586 277.462 | mrigpm”™3 5
cn. acupbl 35.302 26.422 65.895 | mr/gm”3 3
61159.259 31302.549 1
XpomaTtorpammol
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